Date from to H73Y (4= 24
9/13 15:00 17:00 fo—=%
(&) 16:30 17:30 St R-avkA—)L
17:30 17:45 BB -SA4—XI—FT427
Date to AFIV ZH R
8:00 EFHM
9/14 830 9:25 RE/FL—=2F
() 900 9:10 TLR-Z—F42Y
9:30 BFT—* ATk F3E(200 M FTT)
ZFI—h ATk F3E(200 M FTT)
TFI—k 3 kmfB A/ =L 2—F =]
BFTU—+ ZTYUk 1/4RBCE 1 EH)
BFTU—+ ZTYUk 1/4RB(E2EE)
BFTU—+ ZTYUk 1/ 4R BEIEE)
BFT)—F 4 kmfA AN/ S—22—F =]
zZFIY—h 500 m A1 LkZ17 )L R
BFTU—hH 1 km AL LESATIL R
XFIl—F 500 m B4 LFS1T /L &t
12:45 ZFTl—F 1 km Z1LLFS1FIL FE
12:45 13:15 KEE/FL—=2Y
13:15 ZFI)—h ATk 1/2:R (551 [B18R)
SFTU—t ATk 1/ 23R B (1 E80)
ZFT)—t ATk 1/23R (2B )
SFTU—t ATk 1/ 23R B (2 80)
XFI)—k 3 kmfE A/ S—a—Fk 3-44T SR TEEE
BF¥ITU—t 4 kmfEA/S—2—bk 3-AfTRTEE;
ZFII—k 3 kmfA A/ 8\—a—F 1-2{30 3R 7E B
BFxT—F 4 kmfB AN/ 8— 21—k 1-241 R TE B
ZFI)—Fk ATk 1/2;R (58 3[E1 )
BFT—F ATk 1/2;R (58 3[E1 )
ZFIY—F 3 kmfEA / N—S2—F Fgt
FFTY—F 4 kmAA/ —Sa—F FEEt
ZFITY—h 2T 3-44L R E B 1 [ )
BFTU—b ATk -4l R EH(E 1 EH)
ZFIY—h 2Tk 1-2f R FEH(E 1 BB
BFTU—+ 2Tk 1-2f R FEH(E 1 BB
BFTU—H RYZvF (15 km) R
ZFT)—h ATk 3-4f R EH(E2E )
BFTU—b ATk 3-4f R EH(E2E )
ZFIY—h UMY -2 SR E B 28
BFTU—+ UMY -2 SR FE B 2 B8
ZFI—hk I T4 (20km) SRk
ZFI)—k ATk -4 3R TE B (55 3@ E)
B5FTI—+h ATk -4 3R TE B (55 3@ E)
ZFIY—h UMY 1-24 SR E B 3B
BFTU—+ 2Tk 1-24 SR E B 3R
BFTl—+ ROZyF (15 km) FEat
ZFITY—F XY, FE=t
FFTU—F XY, FE=t
16:20 XFLY—F YTV FEat
16:30 17:00 SAt R -avkO—)L




Date from to Hh73Y EH 24
7:30 EFHM
9/15 830 9:25 KE/FL—=2
(/) 9:00 9:10 TLR-Z—F14
9:30 BFoaz=7 R959F (1.5km) FiE
BFTa=7T ATk F32(200 M FTT)
TFOa1=7 ATYk %3%(200 M FTT)
BFxIl—k r4)> 1 [m] B
TFI)—hk R959F (10 km) R
TFO1=7F 500 m B4 LbSATIL R
BFTa=7T 1 km B4 LMSATIL R
BFxI—*k TA) BRI
ZFITY—F ROSyF (10 km) FeEt
XFI2=F 500 m ZLLFSLTIL gzl
12:04 EF>2=7 1 hkm BALLFSTTIL Fegizl
12:04 12:30 KEa/bL—=25
12:30 BFI—bk RA2b-L—ZX (30 km) R
TFO1=7F RA959F (1.5 km) R
BFxI—*k A1) 1/2R 8
BFTa=7 RA959F (10 km) R
EBFIT—F KA, L—R (30 km) Fegizl
XFSa=F ROSYF (7.5 km) FE
BF2=F ROZyF (10 km) FE
A2B3—\)L
TFO1=7F 2Tk 1-243 SR TE Bk
BFTa=7 2Tk 1-243 SR TE Bk
BFT)—k T4)> T-12f R FE B
ZFI)—hk r4)w R
BFxI—*k TA)> RIS
BFI—bH I T4 (40km) R
ZFT21=F XTYZ FE
BF1=F RTYZ FE
ZFIT—F Ty FE
BFT—F % FE
16:10 FFITY—F TV FEg
16:30 17:00 SA4+E R -avkA—)L




Date from to Hh7IY ZH 24
7:30 EFHM
9/16 8:00 9:25 RE/FL—=F
(") 9:00 9:10 TLR-Z—FT424
9:30 BFoa=7F TA) B 1[EE
BFx—*bk F—L-1N\—2a—84 km) FiE
BFI)—bk F—L-RT2NEE) Fi=E
BFPa=7 RAUk-L—R (15 km) R
XFI)—k RAU k- L—2R (20 km) R
BFoa=7 A MEERE
EBF21=7 KA, -L—X (15 km) gzl
11:40 ZFIT/)—F KA, -L—R (20 km) gzl
11:40 12:10 K@/ —=2Y
12:10 BFoa=7 3kmfE A/ \—a—hk T
BFoa=7 A1) 1/2R 85
BFT)—k F—L-ZTYNEE) -4 TEE
TFI—hk F—L-ZTYN2E) 1-2431 3R 7E B
BFT)—k F—L- RT3 1-2431 3R 7E B
TFa=7 2kmfE AN/ S —S 2 — RBE
BF¥ a7 3kmE AN/ S —Sa2—Fk -4 R TEE
BFPa=7 3kmAAN/S—a—F 1-2431 3R 7E B
ZFITY—F F—L-XTY2E) gzl
BFT—F F—L - XTYN3/E) gzl
ZF1=F 2kmF A/ N — a2 —f FE
BF1=F SkmBNA s ¥—=2—f FE
BFTaz7 A T-1230 3R 7E B
ZFDa=T A R
BFoa=7 r4)w R
BFxI—hk F— L 18— a—k4 km) 3-4IIRTEEL
BFxI—hk F— L 18— a—k4 km) 1-2437 SR 7€ Bk
X FS2=T Ty EEA
BEFS2=7 Ty EEA
14:23 ZFTY—+ F—L-s¥—2—M4 km) Fg




